
f@z_D = 1 � Hz^3 + 1L
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1 + z3

z1 = -1; z2 = Cos@Pi � 3D + I Sin@Pi � 3D; z3 = Cos@5 Pi � 3D + I Sin@5 Pi � 3D;

z1

-1

res1 = I Limit@f@zD Hz - z1L, z ® z1D
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In[4]:= Cos@Pi � 6D + I Sin@Pi � 6D

Out[4]=
ä
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res2 = FullSimplify@HCos@Pi � 6D + I Sin@Pi � 6DL Limit@f@zD Hz - z2L, z ® z2DD
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In[5]:= Cos@5 Pi � 6D + I Sin@5 Pi � 6D

Out[5]=
ä
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res3 = FullSimplify@HCos@5 Pi � 6D + I Sin@5 Pi � 6DL Limit@f@zD Hz - z3L, z ® z3DD
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FullSimplify@2 Pi I Hres1 + res2 + res3LD

2 Π

3


